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glgraph, path, a_node):
cost = 0
print(”7.... path[0]:7,path[0])
start,c = path[0]
path = path[1:]
path = [n N, v path]
path path +[a_node] #[(a_node,graphlstart1la_nodel)]
print .. start:”,start)
print(”.... path:”,path)

node path:

cost += graphlstart]lnodel]

start = node

cost
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C
cost = 0
initPath = [(start,cost)] # Path init
0.append(start)
pathPriorityQueue = [initPath] # List of paths
len(pathPriorityQueue) 1= 0:
tmpPath = pathPriorityQueue.pop(0)
print ("tmpPath=", tmpPath)

pnode = 0.pop(0)

pnode :

C. append(pnode)

pnode == goal:

print ("Goal! UCS search is over!™)

tmpPath

P A= graph[pnode]
print(7.. P_A=",P_A)

pa=L]
node P_A:
print{”... node =7,node)
node 0 node C:
cost = zl(graph,tmePath, node)
0.append(node)
print({”... OpenList:",0)
print(”"... ClosedList:",C)
pa += [(node,cost)]
pa == [1:
pq = sorted(pq key= x:x[11)
prlnt( .. pa = ,pq)
0=[n n,v pal
zoal 0[1:1]:

0. remove(goal)
newPath = tmePath + [pal01]
pathPriorityQueue. append(newPath)
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# A->D:6, A->C:2,
g2 = {"A":{'D":6,7C":2
graph3 ={"A:{'B":3, E":9,°C":21,
B :{'D7:2,°E7 -4},
C:{’E’:6, F :91,
!E!: ,G’:],’H,:2},
’D’: ’G’:3}’
FriiCH 1,7 17:2),
GTo{7J7 5],
H ={’J7:5,°L7:9, K" 61,
1K 21,
!K! ,L’:3},
’J’ ’L’:5}}
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print (Tkkkkx Uniform Cost Search for sraph a2 DKKRKEERT)

ucs(g2, B, "E")

print (Tkookx Unj{95m Cost Search for graph graph3 :xxkxx™)

UCS(graph3, A",



